

SIMPSON-LIKE TYPE INEQUALITIES FOR  
CO-ORDINATED  $(s_1, s_2)$ -CONVEX  
MAPPINGS IN THE SECOND SENSE

Jaekyun Park

Department of Mathematics

Hanseon University

Seosan, Chungnam, 356-706, KOREA

**Abstract:** In this article, a new generalized identity for partial differentiable mappings on a bidimensional interval is derived. By using this equality, the author establish the generalizations of the Simpson-like type inequalities for differentiable co-ordinated  $(s_1, s_2)$ -convex mappings in the second sense on the rectangle from the plain.

**AMS Subject Classification:** 26A24, 26A25, 26E15

**Key Words:** convexity,  $s$ -convexity, co-ordinated convexity, Simpson's integral inequality

### 1. Introduction

The following definition is well-known in the literature as Simpson's inequality:

**Theorem 1.1.** Let  $f : I = [a, b] \rightarrow R$  be a four times continuously differentiable mapping on  $[a, b]$  and  $\|f^{(4)}\|_\infty = \sup_{x \in [a, b]} |f^{(4)}(x)| < \infty$ . Then the following inequality holds:

$$\left| \frac{1}{3} \left[ \frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_\infty (b-a)^4.$$

For recent results on Simpson type inequalities, you may see the papers [1, 4, 5, 6, 7, 15]. Özdemir [7, 8] and Park [9, 10, 13, 14] considered the class of mappings which are  $s$ -convex on the co-ordinates.

In sequel, in this article let  $\Delta = [a, b] \times [c, d]$  be a bidimensional interval in  $R^2$  with  $a < b$  and  $c < d$ .

**Definition 1.1.** A mapping  $f : \Delta \rightarrow R$  is said to be  $s$ -convex in the second sense on  $\Delta$  if the following inequality

$$f(tx + (1-t)z, ty + (1-t)w) \leq t^s f(x, y) + (1-t)^s f(z, w) \quad (1)$$

holds, for all  $(x, y), (z, w) \in \Delta$  and  $s, t \in [0, 1]$ .

Modifications for convex and  $s$ -convex mappings on  $\Delta$ , which are also known as co-ordinated convex and co-ordinated  $s$ -convex mappings on  $\Delta$ , respectively, were introduced by Dragomir [4, 5], Sarykaya [15] and Latif [3, 4, 5, 6].

**Definition 1.2.** A mapping  $f : \Delta \rightarrow R^2$  will be called co-ordinated  $s$ -convex in the second sense on  $\Delta$  if the partial mappings

$$f_y : [a, b] \rightarrow R, \quad f_y(u) = f(u, y)$$

and

$$f_x : [c, d] \rightarrow R, \quad f_x(v) = f(x, v)$$

are  $s$ -convex in the second sense, for all  $x \in [a, b], y \in [c, d]$  and  $s \in [0, 1]$ .

A formal definition for co-ordinated  $s$ -convex mappings in the second sense may be stated as follows [7, 12, 13, 15]:

**Definition 1.3.** A mapping  $f : \Delta \rightarrow R^2$  will be called co-ordinated  $s$ -convex in the second sense on  $\Delta$  if the following inequality

$$\begin{aligned} & f(tx + (1-t)z, \lambda y + (1-\lambda)w) \\ & \leq t^s \lambda^s f(x, y) + (1-t)^s \lambda^s f(z, y) \\ & \quad + t^s (1-\lambda)^s f(x, w) + (1-t)^s (1-\lambda)^s f(z, w) \end{aligned} \quad (2)$$

holds, for all  $t, \lambda \in [0, 1]$  and  $(x, y), (z, w) \in \Delta$ , and for fixed  $s \in (0, 1]$ .

If we choose  $s = 1$  in (2), the mapping  $f$  is said to be co-ordinated convex on  $\Delta$ . The inequality in (2) is in reversed order if  $f$  a co-ordinated  $s$ -concave in the second sense on  $\Delta$ .

In [3], Dragomir proved the following Hermite-Hadamard type inequality for co-ordinated convex mappings on the rectangle from the plane:

**Theorem 1.2.** *If  $f : \Delta \subseteq R^2 \rightarrow R$  is a co-ordinated convex partial differentiable mapping on a bidimensional interval  $\Delta = [a, b] \times [c, d]$  with  $a < b$  and  $c < d$ , then the following inequalities hold:*

$$\begin{aligned}
 f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \\
 &\leq \frac{1}{4} \{f(a, c) + f(a, d) + f(b, c) + f(b, d)\}. \tag{3}
 \end{aligned}$$

**Theorem 1.3.** *Let  $f : \Delta \subseteq R^2 \rightarrow R$  be a partial differentiable mapping on a bidimensional interval  $\Delta = [a, b] \times [c, d]$  with  $a < b$  and  $c < d$ , and  $r, t \in [0, 1]$ . If  $\frac{\partial^2 f}{\partial r \partial t}$  is convex on the co-ordinates on  $\Delta$ , then the following inequality holds:*

$$\begin{aligned}
 &\left| \frac{1}{9} \left\{ f\left(a, \frac{c+d}{2}\right) + f\left(b, \frac{c+d}{2}\right) + 4f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) \right. \right. \\
 &\quad \left. \left. + f\left(\frac{a+b}{2}, d\right) \right\} + \frac{1}{36} \left\{ f(a, c) + f(b, c) + f(a, d) + f(b, d) \right\} \right. \\
 &\quad - \frac{1}{6(b-a)} \int_a^b \left\{ f(x, c) + 4f\left(x, \frac{c+d}{2}\right) + f(x, d) \right\} dx \\
 &\quad - \frac{1}{6(d-c)} \int_c^d \left\{ f(a, y) + 4f\left(\frac{a+b}{2}, y\right) + f(b, y) \right\} dy \\
 &\quad \left. + \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\
 &= \left(\frac{5}{72}\right)^2 (b-a)(d-c) \\
 &\quad \times \left\{ \left| \frac{\partial^2}{\partial r \partial t} f(a, c) \right| + \left| \frac{\partial^2}{\partial r \partial t} f(a, d) \right| + \left| \frac{\partial^2}{\partial r \partial t} f(b, c) \right| + \left| \frac{\partial^2}{\partial r \partial t} f(b, d) \right| \right\}.
 \end{aligned}$$

In this article, firstly let us give the following definition:

**Definition 1.4.** A mapping  $f : \Delta \rightarrow R^2$  will be called co-ordinated  $(s_1, s_2)$ -convex in the second sense on  $\Delta$  if the following inequality

$$\begin{aligned}
 &f(tx + (1-t)z, \lambda y + (1-\lambda)w) \\
 &\leq t^{s_1} \lambda^{s_2} f(x, y) + (1-t)^{s_1} \lambda^{s_2} f(z, y) \\
 &\quad + t^{s_1} (1-\lambda)^{s_2} f(x, w) + (1-t)^{s_1} (1-\lambda)^{s_2} f(z, w) \tag{4}
 \end{aligned}$$

holds, for all  $t, \lambda \in [0, 1]$  and  $(x, y), (z, w) \in \Delta$ , and for fixed  $s_1, s_2 \in (0, 1]$ .

Özdemir et. al. [7, 8] and Park [9, 10, 11, 12, 13, 14] establish a generalizations of Simpson-like type inequalities for co-ordinated  $s$ -convex mappings in the second sense.

In this article, a new generalized identity for partial differentiable mappings on a bidimensional interval is derived. By using this equality the author establish the generalizations of Simpson-like type inequalities for co-ordinated  $(s_1, s_2)$ -convex in the second sense on a bidimensional interval.

## 2. Main Results

The following lemma is necessary and plays an important role in establishing our main results:

**Lemma 1.** Let  $f : \Delta \rightarrow R$  be a partial differentiable mapping on a bidimensional interval  $\Delta = [a, b] \times [c, d]$  where  $a < b$  and  $c < d$ . If  $\frac{\partial^2 f}{\partial t \partial \lambda}$  is in  $L(\Delta)$ , then, for  $r_1, r_2 \geq 2$  and  $h_1, h_2 \in (0, 1)$  with  $\frac{1}{r_1} \leq h_1 \leq \frac{r_1-1}{r_1}$  and  $\frac{1}{r_2} \leq h_2 \leq \frac{r_2-1}{r_2}$ , the following identity holds:

$$\begin{aligned}
 & I(f)(h_1, h_2; r_1, r_2) \\
 & \equiv \frac{(r_1 - 2)(r_2 - 2)}{r_1 r_2} f(h_1 a + (1 - h_1)b, h_2 c + (1 - h_2)d) \\
 & \quad + \frac{r_2 - 2}{r_1 r_2} \left\{ f(h_1 a + (1 - h_1)b, c) + f(h_1 a + (1 - h_1)b, d) \right\} \\
 & \quad + \frac{r_1 - 2}{r_1 r_2} \left\{ f(a, h_2 c + (1 - h_2)d) + f(b, h_2 c + (1 - h_2)d) \right\} \\
 & \quad - \frac{1}{(b - a)r_2} \int_a^b \left\{ f(x, c) + (r_2 - 2)f(x, h_2 c + (1 - h_2)d) + f(x, d) \right\} dx \\
 & \quad - \frac{1}{(d - c)r_1} \int_c^d \left\{ f(a, y) + (r_1 - 2)f(h_1 a + (1 - h_1)b, y) + f(b, y) \right\} dy \\
 & \quad + \frac{1}{r_1 r_2} \left\{ f(a, c) + f(a, d) + f(b, c) + f(b, d) \right\} \\
 & \quad + \frac{1}{(b - a)(d - c)} \int_c^d \int_a^b f(x, y) dx dy \\
 & = (b - a)(d - c) \int_0^1 \int_0^1 p(h_1, r_1, t)p(h_2, r_2, \lambda) \\
 & \quad \times \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1 - t)b, \lambda c + (1 - \lambda)d) dt d\lambda, \tag{5}
 \end{aligned}$$

where

$$p(h, r, z) = \begin{cases} z - \frac{1}{r} & z \in [0, h] \\ z - \frac{r-1}{r} & z \in (h, 1]. \end{cases}$$

*Proof.* Using the integration by parts, we get the desired result by substituting  $x = ta + (1 - t)b$  and  $y = \lambda c + (1 - \lambda)d$  for  $(\lambda, t) \in [0, 1]^2$  and multiplying both sides with  $(b - a)(d - c)$ .

**Remark 1.** Lemma 1 is a generalization of the results which proved by M. Z. Sarikaya [15], J. Pecaric [2], M. E. Özdemir [7, 8] and S. S. Dragomir [4, 15].

**Theorem 2.1.** Let  $f : \Delta \subset R^2 \rightarrow R$  be a partial differentiable mapping on  $\Delta$ . If  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$  is in  $L_1(\Delta)$  and is a co-ordinated  $(s_1, s_2)$ -convex mapping in the second sense on  $\Delta$ , then, for  $r_1, r_2 \geq 2$  and  $h_1, h_2 \in (0, 1)$  with  $\frac{1}{r_1} \leq h_1 \leq \frac{r_1-1}{r_1}$  and  $\frac{1}{r_2} \leq h_2 \leq \frac{r_2-1}{r_2}$ , the following inequality holds:

$$\begin{aligned} & \frac{1}{(b - a)(d - c)} \left| I(f)(h_1, h_2; r_1, r_2) \right| \\ & \leq \left[ \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(h_2, r_2, s_2) \right\} \right. \\ & \quad \times \left\{ \left( (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_2 + \mu_3)(h_1, r_1, s_1) \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| \right. \\ & \quad \left. \left. + \left( (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_1 + \mu_4)(1 - h_1, r_1, s_1) \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| \right\} \right. \\ & \quad \left. + \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(1 - h_2, r_2, s_2) \right\} \right. \\ & \quad \times \left\{ \left( (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_2 + \mu_3)(h_1, r_1, s_1) \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| \right. \\ & \quad \left. \left. + \left( (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_2 + \mu_3)(1 - h_1, r_1, s_1) \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right\} \right], \quad (6) \end{aligned}$$

where

$$\begin{aligned} \mu_1(h, r, s) &= \frac{1}{(s + 1)(s + 2)r^{s+2}}, \\ \mu_2(h, r, s) &= \frac{1 + (hr)^{s+1} \{ hr(s + 1) - (s + 2) \}}{(s + 1)(s + 2)r^{s+2}}, \\ \mu_3(h, r, s) &= \frac{(r - 1)^{s+2} + (hr)^{s+1} \{ hr(1 + s) - (s + 2)(r - 1) \}}{(s + 1)(s + 2)r^{s+2}}, \\ \mu_4(h, r, s) &= \frac{(r - 1)^{s+2} + r^{s+1} \{ s + 2 - r \}}{(s + 1)(s + 2)r^{s+2}}. \end{aligned}$$

*Proof.* From Lemma 1, we can write

$$\left| \frac{1}{(b - a)(d - c)} I(f)(h_1, h_2; r_1, r_2) \right|$$

$$\begin{aligned} &\leq \int_0^1 \int_0^1 |p(h_1, r_1, t)p(h_2, r_2, \lambda)| \\ &\quad \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right| dt d\lambda. \end{aligned} \tag{7}$$

Since  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$  is in  $L_1(\Delta)$  and is a co-ordinated  $(s_1, s_2)$ -convex mapping in the second sense on  $\Delta$ , the following inequality

$$\begin{aligned} &\frac{\partial^2}{\partial t \partial \lambda} f(ta + (1-t)b, \lambda c + (1-\lambda)d) \\ &\leq t^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + (1-t)^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| \\ &\quad + t^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + (1-t)^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \end{aligned} \tag{8}$$

holds, for all  $t, \lambda \in [0, 1]$  and for fixed  $s_1, s_2 \in (0, 1]$ .

By the inequalities (7) and (8), we have

$$\begin{aligned} &\left| \frac{1}{(b-a)(d-c)} I(f)(h_1, h_2; r_1, r_2) \right| \\ &\leq \int_0^1 |p(h_1, r_1, t)| \left[ \int_0^1 |p(h_2, r_2, \lambda)| \left\{ t^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| \right. \right. \\ &\quad + (1-t)^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + t^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| \\ &\quad \left. \left. + (1-t)^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right\} d\lambda \right] dt \\ &= \left( \int_0^1 |p(h_1, r_1, t)| t^{s_1} dt \right) \left( \int_0^1 |p(h_2, r_2, \lambda)| \lambda^{s_2} d\lambda \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| \\ &\quad + \left( \int_0^1 |p(h_1, r_1, t)| (1-t)^{s_1} dt \right) \left( \int_0^1 |p(h_2, r_2, \lambda)| \lambda^{s_2} d\lambda \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| \\ &\quad + \left( \int_0^1 |p(h_1, r_1, t)| t^{s_1} dt \right) \left( \int_0^1 |p(h_2, r_2, \lambda)| (1-\lambda)^{s_2} d\lambda \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| \\ &\quad + \left( \int_0^1 |p(h_1, r_1, t)| (1-t)^{s_1} dt \right) \\ &\quad \times \left( \int_0^1 |p(h_2, r_2, \lambda)| (1-\lambda)^{s_2} d\lambda \right) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|. \end{aligned} \tag{9}$$

By the simple calculations, we have the following equalities:

$$(a) \int_0^1 |p(h_1, r_1, t)| t^{s_1} dt$$

$$\begin{aligned}
 &= \mu_1(0, r_1, s_1) + \mu_2(h_1, r_1, s_1) + \mu_3(h_1, r_1, s_1) + \mu_4(0, r_1, s_1), \\
 (b) \int_0^1 & \left| p(h_2, r_2, \lambda) \right| \lambda^{s_2} d\lambda \\
 &= \mu_1(0, r_2, s_2) + \mu_2(h_2, r_2, s_2) + \mu_3(h_2, r_2, s_2) + \mu_4(0, r_2, s_2), \\
 (c) \int_0^1 & \left| p(h_1, r_1, t) \right| (1-t)^{s_1} dt \\
 &= \mu_1(0, r_1, s_1) + \mu_2(1-h_1, r_1, s_1) + \mu_3(1-h_1, r_1, s_1) + \mu_4(0, r_1, s_1), \\
 (d) \int_0^1 & \left| p(h_2, r_2, \lambda) \right| \lambda^{s_2} d\lambda \\
 &= \mu_1(0, r_2, s_2) + \mu_2(h_2, r_2, s_2) + \mu_3(h_2, r_2, s_2) + \mu_4(0, r_2, s_2), \\
 (e) \int_0^1 & \left| p(h_1, r_1, t) \right| t^{s_1} dt \\
 &= \mu_1(0, r_1, s_1) + \mu_2(h_1, r_1, s_1) + \mu_3(h_1, r_1, s_1) + \mu_4(0, r_1, s_1), \\
 (f) \int_0^1 & \left| p(h_2, r_2, \lambda) \right| (1-\lambda)^{s_2} d\lambda \\
 &= \mu_1(0, r_2, s_2) + \mu_2(1-h_2, r_2, s_2) + \mu_3(1-h_2, r_2, s_2) + \mu_4(0, r_2, s_2), \\
 (g) \int_0^1 & \left| p(h_1, r_1, t) \right| (1-t)^{s_1} dt \\
 &= \mu_1(0, r_1, s_1) + \mu_2(1-h_1, r_1, s_1) + \mu_3(1-h_1, r_1, s_1) + \mu_4(0, r_1, s_1), \\
 (h) \int_0^1 & \left| p(h_2, r_2, \lambda) \right| (1-\lambda)^{s_2} d\lambda \\
 &= \mu_1(0, r_2, s_2) + \mu_2(1-h_2, r_2, s_2) + \mu_3(1-h_2, r_2, s_2) + \mu_4(0, r_2, s_2).
 \end{aligned}
 \tag{10}$$

By (9) and (10), we have the desired result.

**Corollary 2.2.** *In Theorem 2.1,*

(a) *if we choose  $r_1 = r_2 = 2$ ,  $h_1 = h_2 = \frac{1}{2}$  and  $s_1 = s_2 = 1$ , then we have*

$$\begin{aligned}
 &\frac{64}{(b-a)(d-c)} \left| I(f) \left( \frac{1}{2}, \frac{1}{2}; 2, 2 \right) \right|_{s_1=s_2=1} \\
 &\leq \left\{ \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right\},
 \end{aligned}$$

which implies that Lemma 1 is a generalization of Lemma 1.2 in [4].

(b) if we choose  $r_1 = r_2 = 6, h_1 = h_2 = \frac{1}{2}$  and  $s_1 = s_2 = 1$ , then we have

$$\begin{aligned} & \frac{(\frac{72}{5})^2}{(b-a)(d-c)} \left| I(f) \left( \frac{1}{2}, \frac{1}{2}; 6, 6 \right) \right|_{s_1=s_2=1} \\ & \leq \left\{ \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right\}, \end{aligned}$$

which implies that Theorem 2.1 is a generalization of Theorem 1.2 in [7].

**Theorem 2.3.** Let  $f : \Delta \subset R^2 \rightarrow R$  be a partial differentiable mapping on a bidimensional interval  $\Delta = [a, b] \times [c, d]$  in  $R^2$  with  $a < b$  and  $c < d$ , and  $\lambda, t \in [0, 1]$ . For  $q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$  if  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  is in  $L(\Delta)$  and is a co-ordinated  $(s_1, s_2)$ -convex mapping on  $\Delta$ , then, for  $r_1, r_2 \geq 2$  and  $h_1, h_2 \in [0, 1]$  with  $\frac{1}{r_1} \leq h_1 \leq \frac{r_1-1}{r_1}$  and  $\frac{1}{r_2} \leq h_2 \leq \frac{r_2-1}{r_2}$ , the following inequality holds:

$$\begin{aligned} & \left| \frac{1}{(b-a)(d-c)} I(f)(h_1, h_2; r_1, r_2) \right| \\ & \leq \mu_5^{\frac{1}{p}}(h_1, r_1) \mu_5^{\frac{1}{p}}(h_2, r_2) \left\{ \frac{1}{(s_1+1)(s_2+1)} \right\}^{\frac{1}{q}} \\ & \quad \times \left\{ \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right\}^{\frac{1}{q}}, \end{aligned} \tag{11}$$

where

$$\mu_5(h, r) = \frac{2 + (r - rh - 1)^{p+1} + (rh - 1)^{p+1}}{r^{p+1}(p + 1)}.$$

*Proof.* From Lemma 1 and using the Hölder inequality for double integrals, we obtain

$$\begin{aligned} & \left| \frac{1}{(b-a)(d-c)} I(f)(h_1, h_2; r_1, r_2) \right| \\ & \leq \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right| dt d\lambda \\ & \leq \left\{ \int_0^1 \int_0^1 \left| p(h_1, r_1, t) \right|^p \left| p(h_2, r_2, \lambda) \right|^p dt d\lambda \right\}^{\frac{1}{p}} \\ & \quad \times \left\{ \int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right\}^{\frac{1}{q}}. \end{aligned} \tag{12}$$



Since  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  is an  $(s_1, s_2)$ -convex mapping on the co-ordinates on  $\Delta$  for  $q > 1$ , we have

$$\begin{aligned} & \int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(tb + (1-t)a, \lambda d + (1-\lambda)c) \right|^q dt d\lambda \\ & \leq \int_0^1 \int_0^1 \left\{ t^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + t^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \right. \\ & \quad \left. + (1-t)^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + (1-t)^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right\} dt d\lambda \\ & = \frac{\left\{ \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right\}}{(s_1 + 1)(s_2 + 1)}. \end{aligned} \tag{13}$$

Note that

$$\begin{aligned} & \int_0^1 \left| p(h_1, r_1, t) \right|^p dt = \mu_5(h_1, r_1), \\ & \int_0^1 \left| p(h_2, r_2, \lambda) \right|^p d\lambda = \mu_5(h_2, r_2). \end{aligned} \tag{14}$$

The substitution of (13) and (14) in (12) gives the desired result.

**Theorem 2.4.** *Let  $f : \Delta \subset R^2 \rightarrow R$  be a partial differentiable mapping on a bidimensional interval  $\Delta = [a, b] \times [c, d]$  in  $R^2$  with  $a < b, c < d$  and  $t, \lambda \in [0, 1]$ . If  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  is in  $L(\Delta)$  and is a co-ordinated  $(s_1, s_2)$ -convex mapping on  $\Delta$ , for  $q \geq 1$ , then, for  $r_1, r_2 \geq 2$  and  $h_1, h_2 \in [0, 1]$  with  $\frac{1}{n_1} \leq h_1 \leq \frac{n_1-1}{n_1}$  and  $\frac{1}{n_2} \leq h_2 \leq \frac{n_2-1}{n_2}$ , the following inequality holds:*

$$\begin{aligned} & \left| \frac{1}{(b-a)(d-c)} I(f)(h_1, h_2; r_1, n_r) \right| \\ & \leq \left[ \left\{ \frac{2h_1^2 - 2h_1 + 1}{2} + \frac{2 - r_1}{r_1^2} \right\} \left\{ \frac{2h_2^2 - 2h_2 + 1}{2} + \frac{2 - r_2}{r_2^2} \right\} \right]^{1-\frac{1}{q}} \\ & \quad \times \left[ \left\{ (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_1 + \mu_4)(h_1, r_1, s_1) \right\} \right. \\ & \quad \times \left\{ \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(h_2, r_2, s_2) \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q \right. \\ & \quad \left. + \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(1 - h_2, r_2, s_2) \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \right\} \\ & \quad \left. + \left\{ (\mu_1 + \mu_4)(0, r_1, s_1) + (\mu_2 + \mu_3)(1 - h_1, r_1, s_1) \right\} \right] \end{aligned}$$

$$\begin{aligned} & \times \left\{ \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(h_2, r_2, s_2) \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \right. \\ & \left. + \left\{ (\mu_1 + \mu_4)(0, r_2, s_2) + (\mu_2 + \mu_3)(1 - h_2, r_2, s_2) \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right\}^{\frac{1}{q}}, \end{aligned}$$

where  $\mu_i(r, s, h)$  ( $i = 1, 2, 3, 4$ ) are defined as in Theorem 2.1.

*Proof.* From Lemma 1 and using the power mean inequality for double integrals, we obtain

$$\begin{aligned} & \left| \frac{1}{(b-a)(d-c)} I(f)(h_1, h_2; n_1, n_2) \right| \\ & \leq \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| \\ & \quad \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right| dt d\lambda \\ & \leq \left\{ \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| dt d\lambda \right\}^{1-\frac{1}{q}} \\ & \quad \times \left\{ \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| \right. \\ & \quad \left. \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right\}^{\frac{1}{q}}. \quad (15) \end{aligned}$$

Since  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  is in  $L(\Delta)$  and is a co-ordinated  $(s_1, s_2)$ -convex mapping on  $\Delta$  for  $q \geq 1$ , we have

$$\begin{aligned} & \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| \\ & \quad \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \\ & \leq \int_0^1 \int_0^1 \left| p(h_1, r_1, t) p(h_2, r_2, \lambda) \right| \\ & \quad \times \left\{ t^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + t^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \right. \\ & \quad \left. + (1-t)^{s_1} \lambda^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + (1-t)^{s_1} (1-\lambda)^{s_2} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right\} dt d\lambda \\ & = \left\{ \int_0^1 \left| p(h_1, r_1, t) \right| t^{s_1} dt \right\} \left\{ \int_0^1 \left| p(h_2, r_2, \lambda) \right| \lambda^{s_2} d\lambda \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q \\ & \quad + \left\{ \int_0^1 \left| p(h_1, r_1, t) \right| t^{s_1} dt \right\} \left\{ \int_0^1 \left| p(h_2, r_2, \lambda) \right| (1-\lambda)^{s_2} d\lambda \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \end{aligned}$$

$$\begin{aligned}
 &+ \left\{ \int_0^1 |p(h_1, r_1, t)|(1-t)^{s_1} dt \right\} \left\{ \int_0^1 |p(h_2, r_2, \lambda)|\lambda^{s_2} d\lambda \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \\
 &+ \left\{ \int_0^1 |p(h_1, r_1, t)|(1-t)^{s_1} dt \right\} \\
 &\quad \times \left\{ \int_0^1 |p(h_2, r_2, \lambda)|(1-\lambda)^{s_2} d\lambda \right\} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q.
 \end{aligned} \tag{16}$$

By noting that

$$\int_0^1 |p(h, r, z)| dz = \frac{2h^2 - 2h + 1}{2} + \frac{2-r}{r^2},$$

we have

$$\begin{aligned}
 \int_0^1 |p(h_1, r_1, t)| dt &= \frac{2h_1^2 - 2h_1 + 1}{2} + \frac{2-r_1}{r_1^2}, \\
 \int_0^1 |p(h_2, r_2, \lambda)| d\lambda &= \frac{2h_2^2 - 2h_2 + 1}{2} + \frac{2-r_2}{r_2^2}.
 \end{aligned} \tag{17}$$

By the substitutions of (10),(16) and (17) in (15), we have the desired result.

### References

- [1] M. Alomari, M. Darus, On the Hadamard’s inequality for log-convex functions on the co-ordinates, *J. of Inequal. and Appl.*, Art ID 283147 (2009), 13 pages.
- [2] M.K. Bakula, J. Pecaric, On the Jensen’s inequality for convex functions on the co-ordinates in a rectangle from the plane, *Taiwanese J. of Math.*, **5** (2006), 1271-1292.
- [3] M.A. Latif, M. Alomari, Hadamard-type inequalities for product two convex functions on the co-ordinates, *Int. Mathematical Forum*, **4**, No. 47 (2009), 2327-2338.
- [4] M.A. Latif, S. Hussain, S.S. Dragomir, On some new inequalities for co-ordinated quasi-convex functions, <http://ajmaa.org/RGMIA/papers/v14a55.pdf> (2011).
- [5] M.A. Latif, S.S. Dragomir, On some new inequalities for differentiable co-ordinated convex functions, <http://ajmaa.org/RGMIA/papers/v14a45.pdf> (2011).

- [6] M.A. Latif, M. Alomari, On the Hadamard-type inequalities for  $h$ -convex functions on the co-ordinates, *Int. J. of Math. Anal.*, **3**, No. 33 (2009), 1645-1656.
- [7] M.E. Özdemir, A.O. Akdemir, Havva Kavurmaci, Merve Avci, On the Simpson's inequality for co-ordinated convex functions, *Classical Analysis and ODEs*, arXiv:1101.0075v2 [math.CA], 4 Jan 2011.
- [8] M.E. Özdemir, Hava Kavurmaci, A.O. Akdemir, Merve Avci, Inequalities for convex and  $s$ -convex functions on  $\Delta = [a, b] \times [c, d]$ , *Classical Analysis and ODEs*, arXiv:1101.0944v3 [math.CA], 15 Jul 2011.
- [9] J. Park, Generalization of the Simpson-like type inequalities for co-ordinated  $s$ -convex mappings, *Far East J. of Math. Sci.*, **54**, No. 2 (2011), 225-236.
- [10] J. Park, Generalization of the Simpson-like type inequalities for co-ordinated  $s$ -convex mappings in the second sense, *Inter. J. of Math. and Math. Sci.*, **2012** (2012), Art ID 715751.
- [11] J. Park, Some Hadamard's type inequalities for co-ordinated  $(s, m)$ -convex mappings in the second sense, *Far East J. of Math. Sci.*, **51**, No. 2 (2011), 205-216.
- [12] J. Park, On the Hermite-Hadamard-type inequalities for co-ordinated  $(s, r)$ -convex mappings, *Inter. J. of Pure and Applied Math.*, **74**, No. 2 (2012), 251-263.
- [13] J. Park, Generalizations of some Simpson-like type inequalities via differentiable  $s$ -convex mappings in the second sense, *Inter. J. of Math. and Math. Sci.*, **2011** (2011), Art ID 493531.
- [14] J. Park, Some generalized inequalities for differentiable co-ordinated  $s$ -convex mappings, *Inter. J. of Pure and Applied Math.*, **2012** (2012), Art ID 809689.
- [15] M.Z. Sarikaya, E. Set, M.E. Özdemir, S.S. Dragomir, Some new Hadamard's type inequalities for co-ordinated convex functions, *Classical Analysis and ODEs*, arXiv: 1005.0700v1 [math.CA], 5 May 2010.